TK120.710 Wall Mounted Module Vertical Outlet

TX25 TX40 SW3
SW6

Mounting View
Montaj Gorintimu

18.4 (x4)
M8x40 (x4)*

_____________________________________________

_____________________________________________

Box Contents

Kutu icerigi

4x [wmmmm  M8x40 (Taptite)
6x (e \8x40 (Loctite)
8x (mm  M8x18

o
—_
x

)

1
1
1
1
1
1
1
1
1
1
|
'oIx
1
1
1
1
1
1
1
1
1
1
1
1

1x [m  M8x10
[ M6x10
4x o 18.4 (M8)
1x o D8x5
1x ’
M8x40 (x6)* ¥}
@ g Loctite \!!!!!! *12 Nm
Optional 1 Optional 2 ==
Opsiyonel 1 Opsiyonel 2 m
70
‘ ‘
30
} 144 13/M12
Scan for the installation manual g - M12 (x4) Mounting dimensions
Kurulum kilavuzu igin tarayin h Montaj dlguleri

*M12 bolts in the image number 12 are not included in the box contents.

ADE 4, * A 1 Tl 1 STl i
ﬁl cus ENCL.ACC. 12 numarali gérselde bulunan M12 civatalar kutu igerigine dahil degildir.
1 TURKIYE
W S E510113

N/ LISTED

https://teknokol.com @ +90 224 443 2318 TEKN D KD I_®

Kayapa, Karanfil Cad Kayapa Sanayi Bolgesi
@ teknokol@teknokol.com @ Nox:/6,p16315 NiIUfer/Bursg P y g Support Arm and Control Panel Systems




